Division par 10> (E)

Trouvez chaque quotient.

1,769 + 103 = 53+103=
3,359 = 103 = 5,9 + 103 =

9,9 +10° = 6+ 103 =
3+10%= 6,3864 + 103 =
3,85 + 103 = 9,4+ 103 =
2,9573 + 10° = 2,705 + 10° =
3,4845 + 103 = 6,9109 = 103 =
2,8064 - 103 = 2,137 - 103 =
1,9223 - 103 = 5,3789 - 103 =
7,8168 + 10% = 3,1+ 103 =
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Division par 10° (E) Solutions

Trouvez chaque quotient.

1,769 =+ 10° = 0,001769

3,359 + 10° = 0,003359

9,9 +10°=0,0099

3+10%°=0,003

3,85 + 10° = 0,00385

2,9573 +10° = 0,0029573

3,4845 + 10° = 0,0034845

2,8064 + 10° = 0,0028064

1,9223 +10°=0,0019223

7,8168 + 10° =0,0078168

5,3+ 10°=0,0053

5,9 +10°=0,0059

6 +10%=10,006

6,3864 + 10° = 0,0063864

9,4 +10°=0,0094

2,705 + 10° = 0,002705

6,9109 + 10° = 0,0069109

2,137 =+ 10%=0,002137

5,3789 + 10° = 0,0053789

3,1 +10°=0,0031
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